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	Electric Potential parameter ( V ):  4.5051
Time constant ( s ): 4.496 
Capacitance ( mF ): 1.303
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	Electric Potential parameter ( V ): 6
Time constant ( s ): 27
Capacitance ( mF ): 12.56


1. Capacitor C1 was connected to a 5.00-V battery for long enough time to charge it. It was then disconnected from the battery.  A second capacitor C2 was then placed in parallel with C1 and both were found to have voltages of 3.25 V.  Determine the ratio of capacitances C2/C1.  Show work.

	C2/C1 = (V1 – V1’)/V2’  = 0.538


How was the voltage measured?

	We placed the contacts (needles) of a voltmeter (multi-meter set up as a voltmeter) across the capacitor – that is one needle on the positive contact and the other needle on the negative contact of the capacitor. 
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